Example

 Example CSV file:
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Example form data:
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Example recipient splits - Example 1:

In the above screenshot, the send window is set to 1 hour, and the interval is set to 2 minutes. Therefore there is a potential of 30 lists (actually 31). However, because there is only 22 recipients in the CSV file, only 22 lists will be created with one recipient in each list:

· Field ADDR position = 3

· Time and Date of first Send = 16/11/2009 8:00:00 AM

· Time and Date of last Send = 16/11/2009 9:00:00 AM

· Number of Recipients = 22

· Number of Lists = 22

· Minimum number of recipients per list = 1

· Remainder after equal distribution: 0

· List 1 = 0410939732,

· List 2 = 0410939733,

· List 3 = 0410939734,

· List 4 = 0410939735,

· List 5 = 0410939736,

· List 6 = 0410939737,

· List 7 = 0410939738,

· List 8 = 0410939739,

· List 9 = 0410939740,

· List 10 = 0410939741,

· List 11 = 0410939742,

· List 12 = 0410939743,

· List 13 = 0410939744,

· List 14 = 0410939745,

· List 15 = 0410939746,

· List 16 = 0410939747,

· List 17 = 0410939748,

· List 18 = 0410939749,

· List 19 = 0410939750,

· List 20 = 0410939751,

· List 21 = 0410939752,

· List 22 = 0410939753,

Example recipient splits - Example 2:

If the interval is changed to 40 minutes, there will be two scheduled jobs within the 1-hour window:

· Field ADDR position = 3

· Time and Date of first Send = 16/11/2009 8:00:00 AM

· Time and Date of last Send = 16/11/2009 9:00:00 AM

· Number of Recipients = 22

· Number of Lists = 2

· Minimum number of recipients per list = 11

· Remainder after equal distribution: 0

· List 1 = 0410939732,0410939733,0410939734,0410939735,0410939736,0410939737,0410939738,0410939739,0410939740,0410939741,0410939742,

· List 2 = 0410939743,0410939744,0410939745,0410939746,0410939747,0410939748,0410939749,0410939750,0410939751,0410939752,0410939753,

Example recipient splits - Example 2:

If the interval is changed to 25 minutes, there will be three scheduled jobs within the 1-hour window, and one list will contain one more recipient than the other two:

· Field ADDR position = 3

· Time and Date of first Send = 16/11/2009 8:00:00 AM

· Time and Date of last Send = 16/11/2009 9:00:00 AM

· Number of Recipients = 22

· Number of Lists = 3

· Minimum number of recipients per list = 7

· Remainder after equal distribution: 1

· List 1 = 0410939732,0410939733,0410939734,0410939735,0410939736,0410939737,0410939738,0410939753

· List 2 = 0410939739,0410939740,0410939741,0410939742,0410939743,0410939744,0410939745,

· List 3 = 0410939746,0410939747,0410939748,0410939749,0410939750,0410939751,0410939752,

Scheduled jobs in myportal:

Using the same csv file as above, but with a 

· start date of 18 November , 

· Start time of 17:55, 

· Time Zone offset of 11

· Window of 1 hour

· Interval of 25 minutes,

The application splits the recipients like so:

· Number of Recipients = 22

· Number of Lists = 3

· Minimum number of recipients per list = 7

· Remainder after equal distribution: 1

· List 1 = 0410939732,0410939733,0410939734,0410939735,0410939736,0410939737,0410939738,0410939753

· List 2 = 0410939739,0410939740,0410939741,0410939742,0410939743,0410939744,0410939745,

· List 3 = 0410939746,0410939747,0410939748,0410939749,0410939750,0410939751,0410939752,

The resultant scheduled jobs in myportal are shown below:
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